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104 solvers 

(Nr of problem – author – stipulation - average points - #solver 5 pt - #solver 0,5-4,5 pt - #solver 
wrong sol - #solver no sol.) 

1 – Birnov - #2 – 4,28 – 89 – 0 – 15 – 0 
wrong keys: 1. Bd5? (5x) 1. Bb7? (4x) 
2 – Dyatchuk - #2 – 4,81 – 100 – 0 – 4 – 0 
3 – Sahlberg - #3 – 3,52 – 41 – 43 – 6  - 14 
missing or wrong var. (solvers with 3,5 or 4 pts): Sd3 (14x) Sb3 (12x)  Re3 (12x)  
4 – Haring - #4 – 3,19 – 25 – 60 – 4 – 15 
missing or wrong var: Kd5 (22x) Se5 (15x) Qb1 (10x) Qc1 (9x) Qf4 (7x) 
5 – Kopnin – eg – 1,29 – 18 – 11 – 51 – 24 
wrong moves:  1…Re2? (18x)  1…? (9x)  3.? (6x) 
6 – Minski – eg – 0,83 – 8 – 46 – 22 – 28 
wrong moves: 1.Ra2? (7x)  1. d5? (6x) 1…d2? (6x) 2. Ra2? (9x) 2…Kg5? (5x)  5.Kg7? (7x) 
7 – Arnold – h#3,5 – 2,50 – 40 – 24 – 2 – 38 
only a)Kf5 (6x)  only b) Sd3 (18x)  solutions with a)Kf5  46x, with b)Sd3  58x
8 – Barsukov etc – h#4 – 2,20 – 19 – 54 – 3 – 28 
c5/Rg1 12x  - h3/c5  9x -  h3/Rg1 14x  - only c5 6x  - only h3 6x  - only Rg1 7x
solutions with c5: 46 – with h3: 48 – with Rg1: 52 
9 – Plachutta - #4 – 1,47 – 30 – 1 – 24 – 49 
wrong keys: 1. Bc8? (10x)  1. Be8? (5x)  1. Kb5? (3x)  
10 – Krätschmer etc - #5 – 0,10 – 2 – 0 – 31 – 70 
wrong moves: 1. Qh1? (11x) 2. Kb2? (3x) 
11 – Blunar – s#2 – 4,25 – 61 – 36 – 2 - 5
wrong keys: 1. Rh3? (4x)
wrong var: Bd2 (28x) Bg3 (6x) 
12 – Gedda- s#5 – 0,22 – 1 – 7 – 19 – 76
missing var: Sg3 (7x) 


